TABELA ROBOT ZIEMNYCH

ZUZYCIE
SREDNIA NA NADMIAR SUMA
LP |[KM| HM | POWIERZCHNIA | POWIERZCHNIA |ODL. OBJETO$C |MIEISCU| OBJETOSCI | ALGEBRAICZNA
wykop (+)[nasyp (-)]wykop (+)] nasyp () wykop (+)nasyp (-) wykop (Hfnasyp ( () ()
m* m* m* m* m m® m* m* m* m® m> m*
PO 0 205,00 0,17 0,00
0,12 0,06 11,00 1,32 0,61 0,61 0,72 0,00
P-1 0 216,00 0,07 0,11 0,72 0,0
0,04 0,12 39,00 1,56 4,49 1,56 0,00 2,93
P-2 0 255,00 0,01 0,12 0,00 2,9
0,01 0,21 42,00 0,21 8,82 0,21 0,00 8,61
P-3 0 297,00 0,00 0,30 0,00 11,54
0,06 0,17 29,00 1,74 4,79 1,74 0,00 3,05
P-4 0 326,00 0,12 0,03 0,00 14,58
0,12 0,03 39,00 4,49 0,98 0,98 3,51 0,00
P-5 0 365,00 0,11 0,02 3,51 14,58
0,08 0,04 39,00 2,93 1,37 1,37 1,56 0,00
P-6 0 404,00 0,04 0,05 5,07 14,58
0,05 0,11 39,00 1,76 4,10 1,76 0,00 2,34
P-7 0 443,00 0,05 0,16| 5,07 16,92
I 0,06 0,11 39,00 2,34 4,29 2,34 0,00 1,95
P-8 0 482,00 0,07 0,06| 5,07 18,87
0,09 0,03 43,00 3,66 1,29 1,29 2,37 0,00
P-9 0 525,00 0,10 0,00 7,44 18,87
0,07 0,03 38,00 2,47 1,14 1,14 1,33 0,00
P-10 0 563,00 0,03 0,06 8,77 18,87
0,05 0,05 40,00 2,00 1,80 1,80 0,20 0,00
P-11 0 603,00 0,07 0,03| 8,97 18,87
| 0,06 0,11 39,00 2,15 4,29 2,15 0,00 2,15
P-12 0 642,00 0,04 0,19| 8,97 21,02
| 0,10 0,10 42,00 3,99 3,99 3,99 0,00 0,00
P-13 0 684,00 0,15 0,00| 8,97 21,02
0,11 0,00 40,00 4,40 0,00 0,00 4,40 0,00
P-14 0 724,00 0,07 0,00| btrona 1 13,37 21,02




1 0,07 0,00] 39,00 2,73 0,00 0,00 2,73 0,00
P-15 763,00 0,07 0,00] 16,10 21,02
| 0,08 0,02] 39,00 312 0,78 0,78 2,34 0,00
P-16 802,00 0,09 0,04 18,44 21,02
| 0,05 0,12 39,00 1,76 4,49 1,76 0,00/ 2,73
P-17 841,00 0,00 0,19| 18,44 23,75
| 0,00 0,21] 39,00 0,00 8,00 0,00 0,00 8,00
P-18 880,00 0,00 0,22] 18,44 31,74
0,05 0,12] 38,00 1,90 4,37 1,90 0,00 2,47
P-19 918,00 0,10 0,01 18,44 34,21
0,10 0,01] 39,00 371 0,20 0,20 351 0,00
P-20 957,00 0,09 0,00 21,95 34,21
0,14 0,00 47,00 6,35 0,00 0,00 6,35 0,00
P21 4,00 0,18 0,00 28,29 34,21
0,18 0,00 35,50 6,21 0,00 0,00 6,21 0,00
KO 39,50 0,17 0,00 34,50 34,21
RAZEM 59,44] 59,15 24,94 34,50] 34,21 34,50 34,21
A
SPR:
B-A= -0,29|G-F=
A-D= 24,94|C
B-E= 24,94|C
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